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This Question Paper consists of 30 questions and 8 printed pages.
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General Instructions : ;

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4 Write your Question Paper Code No. 59/085/2, Sel— on the Answer-Book.

5 (a)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below : '
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.
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Note : (i) All questions are compulsory. There is no overall choice, however,
alternative choices are given in some questions. In such questions, you
have to attempt only one choice.
(i) Marks allotted are indicated against each question.
(iii) Each question from Question Nos. 1 to 10 has four alternatives (A), (B),
(C) and (D), out of which one is most appropriate. Choose the correct
answer among the four alternatives and write it in your Answer-Book
against the number of the question. No extra time is allotted for
attempting multiple-choice questions.
BT () Wl ous ¥ v 3 qol weR-uw § feer T8 %, Rt of gm wedl § S
frper %1 AF W wel § omE Um & faeed & SO S E
(i) W@ U & g o @ T oEl |
(i) W7 wHH 1 ¥ 10 98 % yas ¥ ¥ 9 fawe (A), (B), (C) T&0 (D)
%,Wﬁwmﬁmhﬁﬁwﬁﬁﬁﬁwgﬁa&rmﬁ
W—gﬁazmﬁuﬁm%ﬁamﬁwﬁiﬁwg—ﬁw@ruﬁﬁimmﬁﬁﬂﬂ
Tog el fen s
1 A passenger getting down from a moving bus, falls in the direction of 1
- motion of the bus. This is an example of :
7" (A) Second law of motion (B) Third law of motion
(C) Inertia of rest ' (D) Inertia of motion -
el 79 ¥ SO §C uF ae s @ e A Rew F firar #1 @@ @l §
(A) Tfy & gt fram @ (B) T & d Fam @
(C) fotar & S5 @ (D) 7T & = @l
2 Aball of mass ‘m’ strikes against a rigid wall with speed ‘u’; and 1
rebounds with the same speed. The impulse imparted to the ball by the
wall i1s : :
(A) 2 mu (B) —mu
(C) Zero (D) -2 mu

‘m’ FEMH & UF A€ U g% AT ¥ U AT F THTE IR ¢ 3R T & qQ
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(A) 2 mu (B) —-mu
(C) 3 (D) -2 mu
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3  Pressure at a point inside a liquid does NOT depend on : .~ . . . 1
(A) nature of liquid
(B) shape of container
(C) the depth of point below the surface of the liquid
(D) acceleration due to_gravity
ﬁﬁﬁmaﬁﬂﬂqﬁwﬁﬁﬁfﬁaﬂﬂﬂﬁmwﬁﬁﬂﬁm ?
(A) wF B TP W
(B) T & HHIT WX
(C) 9 % &€ & A n-mg T
(D) Tod U WX
4 A body of mass 100 kg and dens:ty 500 kg m3 is floating on water. 1
For the body to sink, the minimum additional mass to be added to the
body is :
(A) 80 kg (B) 100 kg
- (€) 150 kg | - (D) 200 kg
100 kg F=H 3T 500 kg m™ a7 &1 us fis T W & <@ ¥ 59 R @ o
¥ g % 0T 96% WX ¥ & W O &9 § o9 gRe §
(A) 80 kg | (B) 100 kg
(©) 150 kg (D) 200 kg
5 Sound waves travel fastest in : 1
(A) Solids , (B) Liquids
(C) Gases (D) Vacuum
ety b a0 siftead Tfa d 9T w § -
(A) orEf o (B) wat #
(©) W&t H (D) fafa &
6  Microwaves used in radar system are : 1
(A) longitudinal
(B) transverse
(C) both longitudinal and transverse
(D) neither longitudinal nor transverse
e yomelt & vged ge Eru“r it & -
(4) orgeed
(B) ogmw
(C) orgeed 9 srgwed A
(D) 7 argeed ofiT 7 & oy
59/0SS/2-312-A | 3 g% [ Contd...

Scanned by CamScanner



7 Which of the following spectral series of hydrogen falls within visible 1
range oif_\electmmagnenc radiations ?

(A) Lyoman Series (B) Balmer Series
(®) Paﬁen Series (D) Pfund Series

Freffagst & TR T A A @ g S fagr g R
25T E% wRET W o ¥ 7

(A) ﬁl’%ﬂ__ﬂ %ﬂﬁ iu-.- 1y (B} W%’Uﬁ
(€ wgEy aft (D) e A
D
8 The ma.gp'applicatioﬁ of photodiode is : 1
(A) as“¥ voltage stabilizer (B) receiver for TV remotes
(C) in CﬂlCUlatDrS : (D) in satellite power systems
m’lirgmﬁ‘srw &I I ¥
(A) ﬁﬁamaazmtﬂ'rﬁmi‘r B) ¥ F R g & fdeat §
(© E’Wﬁ (D) uHEl @ el yomterd! o
9 . Which pf the following is not the basic logic gate ? 1
(A) AND gate : (B) OR gate
(C) NP gate (D) NOR gate
Preffasd & 21 A @i e 780 & 7
(A) AND e (B) OR
©) N%LE R - (D) NOR iz
N .
10 The halPlife of a radioactive substance is 30 days. The time taken to 1
disinteprate the 3/4th of its original mass is :
(A) 30“days (B) 15 days
(C) 505E1ays (D) 90 days
%&ﬁiﬁﬁﬁmﬁwéaﬁmﬁ-mﬂ 30 R %1 wrife 7o E & 3/4 FEH @
foafea €8 & @ @
(A) 30 (B) 15 f=@
(C) 60 f& (D) 90 fe
11 Draw a labelled graph for the variation of force of friction with external 2
force, when a gradually increasing external force is applied on a block at
rest.
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